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1. If ሺܽ, ܾሻ is the solution of the system 

൜3ݔ െ ݕ4 ൌ 6
ݔ2 ൅ ݕ3 ൌ 5   

 then ܽ ൅ ܾ is equal to 
a.   ସଵ

ଵ଻
 

b. െ ଷହ
ଵ଻

  

c.   ଷହ
ଵ଻

 

d.   ଷ଼
ଵ଻

 

e. െ ଷ଼
ଵ଻

  
 
 

2. The system   ൜െ2ݔ ൅ ݕ6 ൌ 8
െݔ ൅ ݕ3 ൌ 4   is    

a. dependent 
b. inconsistent 
c. independent 
d. consistent with only two solutions. 
e. Consistent with only three solutions. 

 
 

3. If the system of linear equations ൜ ݔ ൅ ݕܭ ൌ 5
ݔ3 ൅ ݕ5 ൌ 0  is inconsistent, then ܭ ൌ  

a. ହ
ଷ
 

b. ିଷ
ହ

 

c. ଵ
ହ
 

d. ସ
ହ
 

e. ିଵ
ହ

 
 

4. If the system of linear equations ൜2ݔ ൅ ݕ5 ൅ ܣ ൌ 0
ݔ3 െ ݕܤ ൌ 2   has an infinite number of solutions, then ܣ ൅  is ܤ

equal to   
a.   െ ହଷ

଺
 

b.   െ ଵ଻
ସ

  

c.   െ ଵଽ
ଷ

 
d. െ12 
e. െ25  
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5. Given that the lines with equations 3ݔ െ ݕ2 ൌ ݔ2  ,  12 െ ݕ3 ൌ 13  and 5ݔ ൅ ݕ݇ ൌ 19  intersect at the 

same point, then the number ݇ satisfies   
 

a.   ݇ ൌ െ3 
b.   ݇ ് െ ଵହ

ଶ
  

c.   ݇ ൌ 2 
d.   ݇ ൌ െ ଵହ

ଶ
 

e.  ݇ ് െ ଵହ
ଶ

  and ݇ ് െ2  
 
  

 

6. If  ሺݔ, ݔሻ is the solution of the system of equations ൜2ݕ െ ݕߨ5 ൌ 3
ݔ3 ൅ ݕߨ4 ൌ 2 ,  then  ݔ ൅ ݕߨ ൌ   

 
a.   ଵ଻

ଶଷ
 

b.   ଵହ
ଶଷ

  
c.   1 
d.  ଵଷ

ଶଷ
 

e.   ଵଽ
ଶଷ

  
 
 


